C8541001A
C8541002A
C8541003A
C8541004A
C8541005A
C8541006A
C8541007A
C8541008A
C8541009A

C8540230
C8540232
C8540234
C8540236
C8540238

C8540113
C8540114
C8540115
C8540116
C8540117

C8540363
C8540364
C8540365
C8540366
C8540367

BAL Accu-slide Materials List

Raw Extrusion used for Jambs, Header, Sill

in a picture frame unit.

White - 110" Long
White - 120" Long
White - 130" Long
White - 140" Long
White - 150" Long
White - 160" Long
White - 170" Long
White - 180" Long
White - 190" Long

C8542001A
C8542002A
C8542003A
C8542004A
C8542005A
C8542006A
C8542007A
C8542008A
C8542009A

Raw Flat Sill Extrusion

White - 200" Long
White - 120" Long
White - 140" Long
White - 160" Long
White - 180" Long

C8542230
C8542232
C8542234
C8542236
C8542238

Raw 1" Screw Cover

White - 130" Long
White - 140" Long
White - 150" Long
White - 160" Long
White - 170" Long

C8540213
C8540214
C8540215
C8540216
C8540217

Raw 1-1/2" Screw Cover

White - 130" Long
White - 140" Long
White - 150" Long
White - 160" Long
White - 170" Long

C8540463
C8540464
C8540465
C8540466
C8540467

Black - 110" Long
Black - 120" Long
Black - 130" Long
Black - 140" Long
Black - 150" Long
Black - 160" Long
Black - 170" Long
Black - 180" Long
Black - 190" Long

Black - 200" Long
Black - 120" Long
Black - 140" Long
Black - 160" Long
Black - 180" Long

Black - 130" Long
Black - 140" Long
Black - 150" Long
Black - 160" Long
Black - 170" Long

Black - 130" Long
Black - 140" Long
Black - 150" Long
Black - 160" Long
Black - 170" Long



Raw (1-3/8" Wall) Jamb Clamp

C8540082 White - 120" Long
C8540083 White - 130" Long
C8540084 White - 140" Long
C8540085 White - 150" Long
C8540086 White - 160" Long

Raw (1-1/2" Wall) Jamb Clamp

C8540043 White - 130" Long
C8540044 White - 140" Long
C8540045 White - 150" Long
C8540046 White - 160" Long

Raw (1-7/8" Wall) Jamb Clamp

C8540053 White - 130" Long
C8540054 White - 140" Long
C8540055 White - 150" Long
C8540056 White - 160" Long C8542056 Black - 160" Long
C8540057 White - 170" Long

Raw (2-1/4" Wall) Jamb Clamp

C8540063 White - 130" Long
C8540064 White - 140" Long
C8540065 White - 150" Long
C8540066 White - 160" Long

Raw (2-1/2" Wall) Jamb Clamp
C8540073 White - 130" Long
C8540074 White - 140" Long

C8540075 White - 150" Long
C8540076 White - 160" Long C8542076 Black - 160" Long

R854023 Raw Chain (Bulk)



854014
Chain/Cable Connector

854031
1-5/8" Pulley

854167
Extrusion Pulley Bracket - Long

854126
2-3/16" Pulley

854177
Extrusion Pulley Bracket - Short

R854143
3" Pulley

854134
Corner Pulley - Base

854174
Corner Pulley Strap

854144
Bow Tie Clip

854153
Clevis Pin 5/16"

854155
Pop Rivet 1/4"

854157
Coupling Nut 1/4 x 1-3/4" Long




854162
Spring

854164
Coupling Nut 1/4 x 7/8" Long

854165
Nut 1/4-20

854169
Bolt 1/4 x 2-1/2" Long

854171
Torx Screw #10 x 3/4" Long

854172
Screw #10 x 3/8" Long

X

854135
Chain Connector

854161
Flex Overide Shaft

854275
Base Roller
¥ 4 i
& F‘-}
. 2 3
854158

Screw #8 X 5/8" Long




854195
Grommet

854266
Anti-Vibration Foam

854027
Extrusion Lock

22309
Klauber Motor "KIT"

22307
Standard Motor "KIT"

R854046
Wipe (Seal) 2 — %" Wide
(2" wipe area; 3/4" tape)

854145
End Slide Roller

-~

——

22360
Cast Corner - Black

854260
Cast Corner




R854047
Wipe (Seal) 2-3/8" Wide
(1 1/2" wipe area; 5/8" tape)

R854048
Wipe (Seal) 1-1/4" Wide
(3/4" wipe area; 7/16" tape)

R854049
Wipe (Seal) 2-3/8" Wide 1-1/4" HAT
(1 1/8" wipe area; 1 1/4" tape)

R854050
Wipe (Seal) 4" Wide
(3 1/4" wipe area; 5/8" tape)

22305
Cable Repair Kit

22301
High Amp Switch

22304
Low Amp Switch

22303
Motor Controller

KCCADO0S-C E

KINETEK
SLIDE OUT ROOM CONTROL




854270
11 Tooth Sprocket

854180
13 Tooth Sprocket

854130
Flat Stad-off Brkt

854182
Outside Stand-off Brkt

854129
Inside Stand-off Brkt

854196
Inside Stand-off Brkt




	Sheet1

